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D 0.16 x 0.4 = 0.64 @ 027x0.5=1.35
® 0.2x0.74 = 14.8 @ 0.9x%0.63 =567

@0.75 x0.38 = 0.285

B

@ 0.16 x 0.4 = 0.064
@ 0.27%x0.5=0.135
® 0.2x0.74 = 0.148
@ 0.9 x 0.63 = 0.567
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D 0.46 x 39 @ 0.46 x 3.9 ® 4.6x3.9

@ 46 x 0.39 @0.46 x 0.39

B ,
@ 0.46 x 39 = 17.94 : A5 T2}
@ 0.46 x 3.9 = 1.794 : 25 Azt &
®4.6%x3.9=1794: 25 T2 &
@ 46 x 0.39 = 17.94 : &2 T2 4
® 0.46 X 0.39 = 0.1794 : A U#+E] 4=
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20. the £39 oIS TS,

)

@e] Wol : 3.4x3.6=1224(cm?)
@9] §o] 1 10.5x% (7.4 - 3.6)
=10.5 X 3.8 = 39.9( cm?)
(=39 Ho) =0+ @
=12.24 +39.9
= 52.14( cm?)
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=(AZx 4+ A Z2)x2

=A|Zx 5x 2

=AZx 10 = 500|822
AR o A2 & 71 Dol 5em @Y T
(BAHE 9 2 Bl)= 5x 4 = 20( cm)
AALZEE o] 3= 20x 4 = 80(cm) ¥Y T}
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